Name: _________________________________

Algebra 1 Review #502  

Solving Quadratic Equations by Factoring and the Quadratic Formula
Use the zero product property to solve: MUST SHOW WORK TO GET CREDIT!!
1.  (x+2)(x – 3) = 0 


2.  (2x –1 ) (x + 1) = 0


3.  x(x+9) = 0
________________


________________


_____________

Solve each quadratic equation by factoring:

4.  x² - 2x – 15=0



5.  x² - 6x + 9 = 0 


6.  x² +10x = -21 

_________________


__________________


_______________

7.  2x2 – 6x = 0 



8.  3x² + 14x – 5 = 0 

        9. 4x2 + 7x +3 = 0 

______________


_______________


_____________

 Fill in the missing pieces of these charts based on the information you are given.
 10.     GRAPH                  length      width     (length)(width)   Roots              Area            Solutions

                                         factor 1    factor 2   factored form   (Zeros)    Polynomial Form        x=

	[image: image3.png]



	
	
	
	4 and 2
	
	


11.      GRAPH                  length      width     (length)(width)   Roots              Area            Solutions

                                         factor 1    factor 2   factored form   (Zeros)    Polynomial Form        x=
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	Y = x² + 2x
	


Solve the following equations using QUADRATIC FORMULA.   
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Round to the nearest hundredth 
12.  2x² + 3x = 5





13.   x² -  6x + 3 = 0  

a: _____,  b: _____,  c: _____



a: _____,  b: _____,  c: _____

Solution(s): ______________



Solution(s):  ______________
14.   x² - 7x + 4 = 0





15.  25x²  - 30x = -9 

a: _____,  b: _____,  c: _____



a: _____,  b: _____,  c: _____

Solution(s): ______________



Solution(s):  ______________

Use the discriminant (
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) determine the number of solutions for the following quadratic equations.  (Two solutions, One Solution, or No Real Solutions)  MUST SHOW WORK TO GET CREDIT!!

16.  3x² - 6x = 0



17.  4x² - 20x = -25


18.  If (b² - 4ac) is a 











negative number, how 












many solutions does the 












quadratic equation have?
_____________



_______________


____________________
19.  If the area of a rectangle is given by the expression  x2 + 8x + 7, what are the possible dimensions of the rectangle?      Length _______________  Width ___________________
Answer the questions (#20 - #24) based on the graph below.

20.  What are the x-intercepts of the graph shown.
21.  What is the equation of this graph in factored form?


FILL IN THE BLANKS:



(x _____)(x_____) = 0

22.  If the function of this graph is written in the form of

       y = ax² + bx + c.  What are the values of a, b and c.

23.  Name one solution to the equation associated with 

       this function and show that the solution equals zero.

24.  What are the solutions to the equation when y = 4
Answer Bank  

	a = 1


	No real solutions
	X= -3, 5 
	X = 1, 4

 
	X = -2, 3

	(x – 1)(x - 4)
	X = 0, 5
	X = 1, -2.5
	x² + 2x = 0
	X = ½, -1

	x = -¾, -1
	(4, 0)
	a = 1
	(x + 2)
	X = 0, 3 

	b = -5
	(1, 0)
	c = 4
	One Solution
	x(x + 2)

	X = 1.2
	c = -6
	c = -5
	X = 5.45, .55
	b = -20

	(x+7) and (x+1)
	a = 2
	a = 1
	(x – 2)
	x

	x = 0, -2
	a = 25
	(x – 4)
	x = 4, 2
	b = -7

	b = -20
	(x – 4)(x – 2)
	0 and -2
	c = 4
	b = 3

	x² - 6x + 8 = 0
	c = 3
	X = 6.37, .63
	x = ⅓ , -5
	X = 3

	X=0, -9
	Two Solutions
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